Original ROCO-Ersatzteile

' 43464
Original ROCO Replacement Parts

43465

Press-
GrpDE

EiAr‘l.-Nr.nau Art.-Nr. alt Text
1 10026 47735 Gillhlampe 88
Light bulb
2| 85000 0913N Motor a8
Motor
@ 3| esa51 47875 Stromabnehmer 28
Fantograph

4| 85670 B1000B-250| Zylinderkopfschraube M 2x4 2
Cheese headed screw M 2x4

5| 85677 81000A-258| Zylinderkopfschraube M2x14 2
Cheese headed screw M 2x14

6| 85800 | B10508-255] Selbstschneideschraube

a - A

2,2x6,5 2
Screw 2,2x6,5

7| 86205 41705-351 | Drehgestelifeder 2
Bogie spring

B | B6224 41325-077 | Druckfeder 2
Compression spring

9| 87007 41305-138 | Federnabe 3
Spring pickup

10| 87681 41705-A10 | Platine kpl. 40
Printed circult assembly

11| 88081 41575-025 | Isolator 2
Insulator

12| 88087 4170A-010 | Stromabnehmerisolator 2
Pantograph insulator

13| B8088 4170A-011 | Dachleitungsisclator 2
Roof wire insulator

14 | BOT1 41305-031 | Umschaltkontakt ]
Switchcontact

15| 88714 41815-058 | Schaltbolzen ]
Switch pin

18| BOT7S 41705-350 | Oberleitungsverbinder 3
Overhesad current supply
connector

17 | 88880 41515-031 | Diede a
Diode

18| 91995 41155-504 | Hauptlaitung lang 2
Main wire long

18 | 82015 4157A-AD1 | Scheinwerfer Teilesatz f, 434684 | 8
Headlamp parts set for 43464

20| 92018 415TA-ABS | Geh#iuse kpl. fiir 43484 68

Body assembly for 43464

21| 92021 41578-A01 | Scheinwerfer Teilesatz f. 43465 B
Headlamp parts set for 43465

22| 92023 4157TB~-ABS | Gehéuse kpl. flir 43465 68
Body assembly for 43465

23| 2027 41575-006 | Stimfenster ]
Front glazing

24 | 92928 41575-007 | Seitenfenster 8
Side glazing

25| 92031 41575-010 | Leuchtstab 4
Light transmission bar

26| 92832 41575-012 | Dachaufsatz ]
Push in part for roof

27| 92033 41575-015 | Hebezylinder 3
Pantograph moving cylinder

28 | 92938 41575-022 | Bltzschutzgerét 2
Lightning pretective system

28 | 92040 41575-024 | Griffstange 2
Hand rail

30 | 92042 41575-200 | Grundrahman 30
Main Frame

31| 92043 41575-500 | Hauptleitung kurz 2
Main wire short

32| 92044 41575-A02 | Inneneinrichtung mit Kontakt 12
Intarior layouts with contact

33| 83ns 41705-203 | Blgel 1 mit Rippe 12
Frame 1 with rib

34| 83118 41705-204 | Blgel 2 12
z Frame 2
? | I Ay

Art.-Nr. B0-4157A-725 Anderungen vorbehalten Ausgabe 8803 Blatt 178/1
We reserve right to make changes Edition 8803 Page 178/1



